INITIAL CHEBYSHEV POLYNOMIAL CLASS OF ANALYTIC FUNCTIONS BASED ON QUASI-SUBORDINATION

Sunday O. Olatunji and Olubunmi A. Fadipe-Joseph

Communicated by Ayman Badawi

MSC 2010 Classifications: Primary 30C45

Keywords and phrases: Analytic Function, Starlike Function, Convex Function, Quasi-Subordination, Initial Chebyshev Polynomial, Fekete-Szegő Inequality.

Abstract. In this work, the authors investigated the initial Chebyshev polynomial class of analytic functions based on quasi-subordination. The coefficient estimates including the relevant connection to the Fekete-Szegö inequality of functions belonging to the class $\mathcal{G}_n^(q,\gamma,t)$ were derived. Also, certain results for the associated classes involving subordination and majorization were presented.

1 Introduction

Let Γ denote the class of functions of the form

$$f(z) = z + \sum_{k=2}^{\infty} a_k z^k \tag{1.1}$$

which is analytic in the unit disk $E = \{z : |z| < 1\}$ and normalized by f(0) = f'(0) - 1 = 0

Recall that S denotes the class of univalent functions. A function is said to be starlike if $Re\left\{\frac{zf'(z)}{f(z)}\right\} > 0$ and denoted by S^* , while a function is said to be convex if $Re\left\{1 + \frac{zf''(z)}{f'(z)}\right\} > 0$.

For two analytic functions f and g such that f(0) = g(0), we say that f is subordinate to g in E and write $f(z) \prec g(z), z \in E$, if there exists a Schwarz function w(z) with w(0) = 0 and $|w(z)| \leq |z|$ such that f(z) = g(w(z)). Furthermore, if the function g is univalent in E, then we have the following equivalence: $f(z) \prec g(z) \Leftrightarrow f(0) = g(0)$ and $f(E) \subset g(E)$. (See details in [4].

A function f is said to be quasi-subordinate to g in E and written as $f(z) \prec_q g(z)$, $z \in E$, if there exists an analytic function $\varphi(z)$ with $|\varphi| \leq 1$, $(z \in E)$ such that $\frac{f(z)}{\varphi(z)}$ is analytic in E and $\frac{f(z)}{\varphi(z)} \prec g(z)$, $(z \in E)$, that is, there exists a Schwarz function w(z) such that $f(z) = \varphi(z)g(w(z))$, $z \in E$ defined by [6].

It is also seen that if $\varphi(z) \equiv 1$, $(z \in E)$, then the quasi-subordination \prec_q becomes the usual subordination \prec , and for the Schwarz function $w(z) = z, (z \in E)$, the quasi-subordination \prec_q becomes the majorization ' \ll '. That is, $f(z) \prec_q g(z) \Rightarrow f(z) = \varphi(z)g(z) \Rightarrow f(z) \ll g(z)$, $z \in E$. The concept of majorization was revealed by [3].

The Sălăgean[8] differential operator is defined as follows: Let $D^n : \Gamma \longrightarrow \Gamma$, then

$$D^{0}f(z) = f(z)$$

$$D^{1}f(z) = zf'(z)$$

$$\vdots$$

$$D^{n}f(z) = z(D^{n-1}f(z))'$$
(1.2)

Applying (1.2) in (1.1), then we have

$$D^{n} f(z) = z \left(D^{n-1} f(z) \right)' = z + \sum_{k=2}^{\infty} k^{n} a_{k} z^{k}$$
(1.3)

Let $\gamma > 0$ (γ is real) such that (1.1) gives

$$f(z)^{\gamma} = \left(z + \sum_{k=2}^{\infty} a_k z^k\right)^{\gamma} \tag{1.4}$$

Thus, (1.4) can be rewritten as

$$f(z)^{\gamma} = z^{\gamma} (1 + a_2 z + a_3 z^2 + a_4 z^3 + \dots)^{\gamma}. \tag{1.5}$$

then, the binomial expansion of (1.5) yields

$$f(z)^{\gamma} = z^{\gamma} + \gamma a_2 z^{\gamma+1} + \left(\frac{\gamma(\gamma - 1)}{2} a_2^2 + \gamma a_3\right) z^{\gamma+2} + \left(\frac{\gamma(\gamma - 1)(\gamma - 2)}{6} a_2^3 + \gamma(\gamma - 1) a_2 a_3 + \gamma a_4\right) z^{\gamma+3} + \dots$$
(1.6)

Finally applying (1.2) in (1.6), we obtain

$$D^{n} f(z)^{\gamma} = z^{\gamma} + 2^{n} \gamma a_{2} z^{\gamma+1} + 3^{n} \left(\frac{\gamma(\gamma - 1)}{2} a_{2}^{2} + \gamma a_{3} \right) z^{\gamma+2}$$

$$+ 4^{n} \left(\frac{\gamma(\gamma - 1)(\gamma - 2)}{6} a_{2}^{3} + \gamma(\gamma - 1) a_{2} a_{3} + \gamma a_{4} \right) z^{\gamma+3} + \dots$$

$$(1.7)$$

Chebyshev polynomial is a normal function used by numerical analyst and it can be categorized into four kind. The first and second kind $T_n(x)$ and $U_n(x)$ are the most related kind of polynomial found in literature and they have numerous application in different fields.

The usual kind of the Chebyshev polynomials are the first and the second kind. In the case of real variable x on [-1, 1], the first and second kind are defined by

$$T_n(x) = cosn\theta$$

and

$$U_n(x) = \frac{\sin(n+1)\theta}{\sin\theta}$$

where the subscript n denotes the polynomial degree and where $x = cos\theta$ respectively. Letting $t = cos\alpha$, $\alpha \in \left(-\frac{\pi}{3}, \frac{\pi}{3}\right)$, one can obtain

$$H(z,t) = \frac{1}{1 - 2tz + z^2} = 1 + \sum_{k=1}^{\infty} \frac{\sin(k+1)\alpha}{\sin\alpha} z^k = 1 + 2\cos\alpha z + (3\cos^2\alpha - \sin^2\alpha)z^2 + \dots \\ (z \in E) = \frac{1}{1 - 2tz + z^2} = 1 + \sum_{k=1}^{\infty} \frac{\sin(k+1)\alpha}{\sin\alpha} z^k = 1 + 2\cos\alpha z + (3\cos^2\alpha - \sin^2\alpha)z^2 + \dots \\ (z \in E) = \frac{1}{1 - 2tz + z^2} = 1 + \sum_{k=1}^{\infty} \frac{\sin(k+1)\alpha}{\sin\alpha} z^k = 1 + 2\cos\alpha z + (3\cos^2\alpha - \sin^2\alpha)z^2 + \dots \\ (z \in E) = \frac{1}{1 - 2tz + z^2} = 1 + \sum_{k=1}^{\infty} \frac{\sin(k+1)\alpha}{\sin\alpha} z^k = 1 + 2\cos\alpha z + (3\cos^2\alpha - \sin^2\alpha)z^2 + \dots \\ (z \in E) = \frac{1}{1 - 2tz + z^2} = 1 + \sum_{k=1}^{\infty} \frac{\sin(k+1)\alpha}{\sin\alpha} z^k = 1 + 2\cos\alpha z + (3\cos^2\alpha - \sin^2\alpha)z^2 + \dots \\ (z \in E) = \frac{1}{1 - 2tz + z^2} = 1 + \sum_{k=1}^{\infty} \frac{\sin(k+1)\alpha}{\sin\alpha} z^k = 1 + 2\cos\alpha z + (3\cos^2\alpha - \sin^2\alpha)z^2 + \dots \\ (z \in E) = \frac{1}{1 - 2tz + z^2} = 1 + \sum_{k=1}^{\infty} \frac{\sin(k+1)\alpha}{\sin\alpha} z^k = 1 + 2\cos\alpha z + (3\cos^2\alpha - \sin^2\alpha)z^2 + \dots \\ (z \in E) = \frac{1}{1 - 2tz + z^2} = 1 + \sum_{k=1}^{\infty} \frac{\sin(k+1)\alpha}{\sin\alpha} z^k = 1 + 2\cos\alpha z + (3\cos^2\alpha - \sin^2\alpha)z^2 + \dots \\ (z \in E) = \frac{1}{1 - 2tz + z^2} = 1 + \sum_{k=1}^{\infty} \frac{\sin(k+1)\alpha}{\sin\alpha} z^k = 1 + 2\cos\alpha z + (3\cos^2\alpha - \sin^2\alpha)z^2 + \dots \\ (z \in E) = \frac{1}{1 - 2tz + z^2} = 1 + \sum_{k=1}^{\infty} \frac{\sin(k+1)\alpha}{\sin\alpha} z^k = 1 + 2\cos\alpha z + (3\cos^2\alpha - \sin^2\alpha)z^2 + \dots \\ (z \in E) = \frac{1}{1 - 2tz + z^2} = 1 + \sum_{k=1}^{\infty} \frac{\sin(k+1)\alpha}{\sin\alpha} z^k = 1 + \sum_{k=1}^{\infty} \frac{\sin(k+1)\alpha}{\cos\alpha} z^k = 1 + \sum_{k=1}^{\infty} \frac{\sin(k+1)\alpha}{\cos\alpha} z^k = 1$$

So, we write

$$H(z,t) = 1 + U_1(t)z + U_2(t)z^2 +(z \in U, t \in (-1,1))$$

where $U_{n-1} = \frac{\sin(k \ arccost)}{\sqrt{1-t^2}}$ for $k \in \mathcal{N}$, are the second kind of the Chebyshev polynomials. More so, we know that

$$U_n(t) = 2tU_{n-1}(t) - U_{n-2}(t)$$
(1.8)

and

$$U_1(t) = 2t; U_2(t) = 4t^2 - 1; U_3(t) = 8t^3 - 4t; U_4(t) = 16t^4 - 12t^2 + 1,$$
 (1.9)

The Chebyshev polynomials $T_n(t)$; $t \in [-1, 1]$ of the first kind have generating function of the form

$$\sum_{n=0}^{\infty} T_n(t) z^n = \frac{1 - tz}{1 - 2tz + z^2}. \qquad z \in E$$
 (1.10)

All the same, there is the following relationship between the Chebyshev polynomial of the first kind $T_n(x)$ and the second kind $U_n(t)$

$$\frac{dT_n(t)}{dt} = nU_{n-1}(t)T_n(t) = U_n(t) - tU_{n-1}(t)2T_n(t) = U_n(t) - U_{n-2}(t).$$

See details in [1].

In this present work, we focus mainly on determining the coefficient estimates including a Fekete-Szegö inequality [2], [5], [7], [9] of functions belonging to the classes $\mathcal{G}_n^(q, \gamma, t)$, $\mathcal{G}_n(\gamma, t)$ and the class involving majorization. In order to obtain our results, the following lemmas and definitions shall be required.

Lemma 1.1. [10] If a function $p \in P$ is given by

$$p(z) = 1 + p_1 z + p_2 z^2 + \dots \quad (z \in E),$$
 (1.11)

then $|p_k| \le 2$, $(k \in N)$, where P is the family of all functions analytic in E for which p(0) = 1 and $Re \ p(z) > 0$, $(z \in E)$.

Lemma 1.2. [11] Let the Schwarz function w(z) be given by

$$w(z) = w_1 z + w_2 z^2 + w_3 z^3 + \dots, (z \in E)$$
(1.12)

then

$$|w_1| \le 1, |w_2 - tw_1^2| \le 1 + (|t| - 1)|w_1|^2 \le \max\{1, |t|\},$$
 (1.13)

where $t \in C$.

Definition 1.3. Let $H(z,t) \in P$ be univalent and H(z,t)(U) symmetrical about the real axis (H(z,t))'(0) > 0. For $t(-1,1), \gamma > 0, n \in \mathcal{N}$ and , a function $f \in \Gamma$ is said to be in the class $\mathcal{G}_n^*(q,\gamma,t)$ if

$$\left(\frac{D^{n+1}f(z)^{\gamma}}{D^nf(z)^{\gamma}} - 1\right) \prec_q (H(z,t) - 1), \quad z \in E.$$

$$(1.14)$$

and $\varphi(z)$ which is analytic in E is of the form

$$\varphi(z) = d_0 + d_1 z + d_2 z^2 + \dots \tag{1.15}$$

2 Main Results

Theorem 2.1. Let $f(z)^{\gamma} \in \Gamma$ of the form (1.4) belong to the class $\mathcal{G}_n^*(q,\gamma,t)$, then

$$|a_2| \le \frac{2t}{|\gamma(2^{n+1} - 2^n)|} \tag{2.1}$$

and for some $\mu \in \mathcal{C}$,

$$|a_3 - ca_2^2| \le \frac{2t}{|\gamma(3^{n+1} - 3^n)|} \max \left\{ 1, \left| \frac{4t^2 - 1}{2t} - \frac{t\left[(3^{n+1} - 3^n)(\gamma(\gamma - 1) + 2c) - 2\gamma^2(2^{2n+1} - 2^{2n}) \right]}{\gamma^2(2^{n+1} - 2^n)^2} \right| \right\}$$
(2.2)

where $\gamma > 0$, (γ is real), $t \in (-1,1)$ and $n \in \mathcal{N}$. The result is sharp.

Proof. Let $f \in \Gamma$, then for a Schwarz function $\omega(z)$ given by (1.12) and for an analytic function $\varphi(z)$ given by (1.15), we have

$$\left(\frac{D^{n+1}f(z)^{\gamma}}{D^nf(z)^{\gamma}} - 1\right) = \varphi(H(\omega(z), t) - 1), \quad z \in E.$$
(2.3)

In view of (2.3) we obtain

$$\varphi(H(\omega(z),t)-1) = (d_0 + d_1z + d_2z^2 + \dots) (U_1(t)\omega_1z + (U_2(t)\omega_1^2 + U_1(t)\omega_2)z^2 + \dots)$$

$$= d_0 U_1(t)\omega_1 z + \left\{ d_0 (U_2(t)\omega_1^2 + U_1(t)\omega_2) + d_1 U_1(t)\omega_1 \right\} z^2 + \dots$$
 (2.4)

Using the series expansion for

$$\left(\frac{D^{n+1}f(z)^{\gamma}}{D^nf(z)^{\gamma}}-1\right)$$

gives

$$\left(2^{n+1} - 2^n\right)\gamma a_2 z + \left[\left(2^{2n} - 2^{2n+1}\right)\gamma^2 a_2^2 + \left(3^{n+1} - 3^n\right)\left(\frac{\gamma(\gamma - 1)}{2}a_2^2 + a_3\gamma\right)\right]z^2 + \dots (2.5)$$

From the expansion (2.4) and (2.5), on equating the coefficients of z and z^2 in (2.3) find that

$$(2^{n+1} - 2^n) \gamma a_2 = d_0 U_1(t) \omega_1 \tag{2.6}$$

$$(2^{2n} - 2^{2n+1}) \gamma^2 a_2^2 + (3^{n+1} - 3^n) \left(\frac{\gamma(\gamma - 1)}{2} a_2^2 + a_3 \gamma \right) = d_0(U_2(t)\omega_1^2 + U_1(t)\omega_2) + d_1 U_1(t)\omega_1$$
(2.7)

Now (2.6) gives

$$a_2 = \frac{d_0 U_1(t)\omega_1}{(2^{n+1} - 2^n)\gamma}$$
 (2.8)

which in view of (2.7) yields that

$$\gamma \left(3^{n+1} - 3^{n}\right) a_{3} = \frac{\left(2\left(2^{2n+1} - 2^{2n}\right)\gamma - \left(3^{n+1} - 3^{n}\right)\left(\gamma - 1\right)\right) d_{0}^{2} U_{1}^{2}(t)\omega_{1}^{2}}{2\gamma \left(2^{n+1} - 2^{n}\right)^{2}} + d_{0}(U_{2}(t)\omega_{1}^{2} + U_{1}(t)\omega_{2}) + d_{1}U_{1}(t)\omega_{1}$$
(2.9)

and therefore

$$a_{3} = \frac{U_{1}(t)}{\gamma \left(3^{n+1} - 3^{n}\right)}$$

$$\left[d_{1}\omega_{1} + d_{0} \left\{\omega_{2} + \left(\frac{\left(2\left(2^{2n+1} - 2^{2n}\right)\gamma - \left(3^{n+1} - 3^{n}\right)\left(\gamma - 1\right)\right)d_{0}U_{1}(t)}{2\gamma \left(2^{n+1} - 2^{n}\right)^{2}}\right) + \frac{U_{2}(t)}{U_{1}(t)}\right\}\omega_{1}^{2}\right] 2.10\right)$$

For some $c \in \mathcal{C}$, we obtain from (2.8) and (2.10)

$$a_{3} - ca_{2}^{2} = \frac{U_{1}(t)}{\gamma \left(3^{n+1} - 3^{n}\right)}$$

$$\left[d_{1}\omega_{1} + d_{0}\left(\omega_{2} + \frac{U_{2}(t)}{U_{1}(t)}\omega_{1}^{2}\right) + \left(\frac{\left(2\gamma^{2}\left(2^{2n+1} - 2^{2n}\right) - \left(3^{n+1} - 3^{n}\right)\left(\gamma(\gamma - 1) + 2c\right)\right)d_{0}^{2}U_{1}^{2}(t)\omega_{1}^{2}}{2\gamma^{2}\left(2^{n+1} - 2^{n}\right)^{2}}\right)\right] (2.11)$$

Since $\varphi(z)$ given by (1.15) is analytic and bounded in U, therefore on using [4],[p.172], we have for some $y(|y| \le 1)$;

$$|d_0| \le 1$$
 and $d_1 = (1 - d_0^2)y$ (2.12)

On putting the value of d_1 from (2.12) into (2.11), we get

$$a_{3} - ca_{2}^{2} = \frac{U_{1}(t)}{\gamma (3^{n+1} - 3^{n})}$$

$$\left[y\omega_{1} + d_{0} \left(\omega_{2} + \frac{U_{2}(t)}{U_{1}(t)} \omega_{1}^{2} \right) - \left(\frac{\left(\left(3^{n+1} - 3^{n} \right) \left(\gamma (\gamma - 1) + 2c \right) - 2\gamma^{2} \left(2^{2n+1} - 2^{2n} \right) \right) U_{1}(t) \omega_{1}^{2}}{2\gamma^{2} \left(2^{n+1} - 2^{n} \right)^{2}} + y\omega_{1} \right) d_{0}^{2} \right] (2^{n+1} - 2^{n})^{2}$$

If $d_0 = 0$ in (2.13) then,

$$\left|a_3 - ca_2^2\right| \le \frac{U_1(t)}{\left|\gamma\left(3^{n+1} - 3^n\right)\right|}.$$
 (2.14)

But if $d_0 \neq 0$, let us then suppose that

$$F(d_0) = y\omega_1 + d_0 \left(\omega_2 + \frac{U_2(t)}{U_1(t)}\omega_1^2\right) - \left(\frac{\left(\left(3^{n+1} - 3^n\right)\left(\gamma(\gamma - 1) + 2c\right) - 2\gamma^2\left(2^{2n+1} - 2^{2n}\right)\right)U_1(t)\omega_1^2}{2\gamma^2\left(2^{n+1} - 2^n\right)^2} + y\omega_1\right)d_0^2, \tag{2.15}$$

which is a polynomial in d_0 and have analytic in $|d_0| \le 1$, and maximum of $|F(d_0)|$ is attained at $d_0 = e^{i\theta}(0 \le \theta < 2\pi)$. We find that $\max_{0 \le \theta < 2\pi} |F(e^{i\theta})| = |F(1)|$ and

$$\left| a_3 - ca_2^2 \right| \le \frac{U_1(t)}{\gamma \left(3^{n+1} - 3^n \right)}$$

$$\left| \omega_2 - \left(\frac{\left(\left(3^{n+1} - 3^n \right) \left(\gamma(\gamma - 1) + 2c \right) - 2\gamma^2 \left(2^{2n+1} - 2^{2n} \right) \right)}{2\gamma^2 \left(2^{n+1} - 2^n \right)^2} U_1(t) - \frac{U_2(t)}{U_1(t)} \right) \omega_1^2 \right|.$$
 (2.16)

Using lemma 1.2 gives

$$|a_{3} - ca_{2}^{2}|$$

$$\leq \frac{U_{1}(t)}{|\gamma(3^{n+1} - 3^{n})|} max \left\{ 1, \left| \frac{\left(\left(3^{n+1} - 3^{n}\right) \left(\gamma(\gamma - 1) + 2c\right) - 2\gamma^{2} \left(2^{2n+1} - 2^{2n}\right)\right)}{2\gamma^{2} \left(2^{n+1} - 2^{n}\right)^{2}} U_{1}(t) - \frac{U_{2}(t)}{U_{1}(t)} \right| \right\} (2.17)$$

and the above inequality together with (2.14) establishes the result in (2.2).

Theorem 2.2. Let $f(z)^{\gamma} \in \Gamma$ of the form (1.4) belong to the class $\mathcal{G}_n^*(q,\gamma,t)$, then

$$|a_2| \le \frac{2t}{|\gamma(2^{n+1} - 2^n)|}$$

and for some $\mu \in C$,

$$|a_3 - ca_2^2| \le \frac{2t}{|\gamma(3^{n+1} - 3^n)|} \max \left\{ 1, \left| \frac{4t^2 - 1}{2t} - \frac{t\left[(3^{n+1} - 3^n)(\gamma(\gamma - 1) + 2c) - 2\gamma^2(2^{2n+1} - 2^{2n}) \right]}{\gamma^2(2^{n+1} - 2^n)^2} \right| \right\}$$

where $\gamma > 0$, $(\gamma \text{ is real}), t \in (-1, 1)$ and $n \in \mathcal{N}$. The result is sharp.

Proof. Let $f \in \mathcal{G}_n(q, \gamma, t)$. Similar to the proof of Theorem 1. If $\varphi(z) \equiv 1$, then (1.15) evidently implies that $d_0 = 1$ and $d_n = 0, n \in \mathcal{N}$, hence, in view of (2.8) and (2.10) and Lemma 1.2, we obtain the desired result of Theorem 2.2. \square

Here, the majorization and the result pertaining to it is contained in the following:

Theorem 2.3. *If a function* $f \in \Gamma$ *of the form* (1.4) *satisfies*

$$\frac{D^{n+1}f(z)^{\gamma}}{D^nf(z)^{\gamma}} - 1 << (H(z,t) - 1), \quad z \in E.$$
(2.18)

then

$$|a_2| \le \frac{2t}{|\gamma(2^{n+1} - 2^n)|} \tag{2.19}$$

and for some $\mu \in C$,

$$\frac{|a_3 - ca_2^2| \le }{|\gamma(3^{n+1} - 3^n)|} \max \left\{ 1, \left| \frac{4t^2 - 1}{2t} - \frac{t \left[(3^{n+1} - 3^n)(\gamma(\gamma - 1) + 2c) - 2\gamma^2(2^{2n+1} - 2^{2n}) \right]}{\gamma^2(2^{n+1} - 2^n)^2} \right| \right\} 2.20)$$

where $\gamma > 0$, $t \in (-1, 1)$, $(\gamma \text{ is real})$ and $n \in \mathcal{N}$. The result is sharp.

Proof. Following the proof of Theorem 2.1, if $\omega(z) \equiv z$ in (1.13), so that $\omega_1 = 1$ and $\omega_n = 0, n = 2, 3, 4, 5, ...$ then in view of (2.8) and (2.10), we get

$$|a_2| \le \frac{U_1(t)}{|\gamma(2^{n+1} - 2^n)|} \tag{2.21}$$

and

$$a_{3} - ca_{2}^{2} = \frac{U_{1}(t)}{\gamma (3^{n+1} - 3^{n})}$$

$$\left[d_{1} + d_{0} \frac{U_{2}(t)}{U_{1}(t)} - \left(\frac{\left(3^{n+1} - 3^{n}\right) \left(\gamma(\gamma - 1) + 2c\right) - 2\gamma^{2} \left(2^{2n+1} - 2^{2n}\right)}{2\gamma^{2} \left(2^{n+1} - 2^{n}\right)^{2}} \right) d_{0}^{2} U_{1}(t) \right]. \quad (2.22)$$

On putting the value of d_1 from (2.12) in (2.22), we get

$$a_{3} - ca_{2}^{2} = \frac{U_{1}(t)}{\gamma (3^{n+1} - 3^{n})}$$

$$\left[y + d_{0} \frac{U_{2}(t)}{U_{1}(t)} - \left(\frac{\left[(3^{n+1} - 3^{n}) (\gamma(\gamma - 1) + 2c) - 2\gamma^{2} (2^{2n+1} - 2^{2n}) \right] U_{1}(t)}{2\gamma^{2} (2^{n+1} - 2^{n})^{2}} + y \right) d_{0}^{2} \right] . (2.23)$$

If $d_0 = 0$, we get

$$\left|a_3 - ca_2^2\right| \le \frac{U_1(t)}{\left|\gamma\left(3^{n+1} - 3^n\right)\right|}.$$
 (2.24)

and if $d_0 \neq 0$, let

$$G(d_0) := y + d_0 \frac{U_2(t)}{U_1(t)} - \left(\frac{\left[\left(3^{n+1} - 3^n\right)\left(\gamma(\gamma - 1) + 2c\right) - 2\gamma^2\left(2^{2n+1} - 2^{2n}\right)\right]U_1(t)}{2\gamma^2\left(2^{n+1} - 2^n\right)^2} + y\right)d_0^2$$
(2.25)

which being a polynomial in d_0 is analytic in $|d_0| \le 1$, and maximum of $|G(d_0)|$ is attained at $d_0 = e^{i\theta}(0 \le \theta < 2\pi)$. We thus find $\max_{0 \le \theta < 2\pi} |G(e^{i\theta})| = |G(1)|$ and consequently

$$\left| a_{3} - ca_{2}^{2} \right| \leq \frac{U_{1}(t)}{\left| \gamma \left(3^{n+1} - 3^{n} \right) \right|}$$

$$\left| \frac{\left[\left(3^{n+1} - 3^{n} \right) \left(\gamma (\gamma - 1) + 2c \right) - 2\gamma^{2} \left(2^{2n+1} - 2^{2n} \right) \right] U_{1}(t)}{2\gamma^{2} \left(2^{n+1} - 2^{n} \right)^{2}} - \frac{U_{2}(t)}{U_{1}(t)} \right|.$$
(2.26)

This completes the proof. \Box

References

- [1] O.H. Güney: Initial Chebyshev Polynomial coefficient Bound Estimates for Bi-univalent Function, Acta Universitatis Apulensis, No. 47/2016, pp.159-165.
- [2] W.C. Ma and D. Minda: A Unified Treatment of Some Special Cases of Univalent Functions, In Proceedings of the Conference on Complex Analysis (Tianjin, 1992), 157-169, Conference Proceedings, Lecture Notes Anal. I, International Press, Cambridge, MA.
- [3] T.H. MacGregor: Majorization by Univalent Functions, Duke Math. J. Vol. 34, 95-102 (1967).
- [4] Z. Nehari: Conformal Mappings, McGraw-Hill, New York (1952).
- [5] V. Ravichandran, A. Gangadharan and M. Darus: Fekete-Szegö Inequality for Certain Class of Bazilevič Functions, Far East J. Math. Sci., Vol. 15, 171-180 (2004).
- [6] M.S. Robertson: Quasi-Subordination and Coefficients Conjectures, Bull. Amer. Math. Soc., Vol. 76, 1-9 (1970).
- [7] T.N. Shanmugam and S. Sivasubramanian: On the Fekete-Szegö Problem for Some Subclasses of Analytic Functions, J. Inequal. Pure and Applied Math. Vol. 28, 283-290 (2006).
- [8] G.S. Sălăgean: *Operators on Classes of Analytic or Harmonic Functions*, Presentation at the 11th International Symposium on Geometric Function Theory and Applications, August 24-27, Ohrid, Macedonia (2015).
- [9] N. Tuneski and M. Darus: Fekete-Szegö Functional for Non-Bazilevič Functions, Acta Math. Acad. Paedagog in N.S. Nyházi, Vol. 18, No. 2, 63-65 (2002).
- [10] C. Pommerenke: Univalent Functions, Vandenhoeck and Ruprecht, Göttingen (1975).
- [11] P.Sharma and R.K. Raina: On a Sakaguchi Type Class of Analytic functions associated with Quasisubordination, Commentarii Mathematici, Universitatis Sancti Pauli, Vol.64, No.1,(2015).

Author information

Sunday O. Olatunji and Olubunmi A. Fadipe-Joseph, Department of Mathematical sciences, Federal University of Technology, Akure and Department of Mathematics, Faculty of Physical Sciences, University of Ilorin, Ilorin, Nigeria.

E-mail: olatunjiso@futa.edu.ng and famelov@unilorin.edu.ng

Received: June 11, 2017. Accepted: March 1, 2018.